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A SAITHAE D

M TADHY SHSHIELXGNL/XALECAI)
CHRl: SAITHAEANY EER=E)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
202 04| 1,840 2,290 A450
01 =LHAHI 1,840 2,290 2450
OggtxER 2= 1,840
o ZHHOH] 20,000 x2F 22« 122 960
o 2t2| (4| 110,000 x2ZH 12 *43] 880
22X 232 Hel AlE=S 2el 92,404 198,226 A105,822
101 Q124H| 41,844 42,666 AB22
04 JIZtN2Z2 X S8+ 41,844 42,666 AB22
O=3t2 AHel Ald=2 |2 23,492
oI 78,8303 x1H+52 «42F= 16,565
oxzad 78,8803 1 »425= 3,313
oMEAZ BME
6,800 x 1 +6L 42 1,714
oMEIEER 1,900,000 *14] 1,900
O=35te Jel Ald2 2 (=ZAE &3E
Hl) 18,352
QI 78,8803 x2H 52« 165 12,621
oxFad 78,8802 2 16== 2,525
oMEAFT B
6,800 x2Z+6L* 165 1,306
oABIEEE 1,900,000& *14] 1,900
201 L= 49,600 54,600 25,000
02 324l 49,600 54,600 A5,000
O332= & HAl 14,600
o&llz 1,000,000& 122 12,000
oot 500,000& x4& 2,000
ostlg 50,000& =128 600
OAIE EHIR I 35,000
o232 Hel S AEE =Xl
35,000,000 *14] 35,000
202 04| 960 960
01 =LHA I 960 960
OUEZX7 232 Hels AIE8E 2el
20,0002 x2F 22«12 960
CAITHE A 182,478 211,378 /28,900
201 223 79,870 72,430 7,440
01 AFS2t2ltl 23,370 15,450 7,920
Oo2g+d 13,530
o AR Z 3,280
SRSt 100,000& *12H »22] 2,400
—u S| 110,000& 4 & +23] 880
o AITHMAIY XHE23] 10,250
-2 100,000 *x3A[ 25 +53] 7,500
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S AIRH A4 D

3 CADHEY 243H=EXXGML/XALEAI)
Sl TAITHAANY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—uSH| 110,0003 #5& +53] 2,750
OZels4l 9,840
oZgA+ HRUEHH 52| A2+
= 165,000« 128 1,980
o2477 HRUEIME 520 RX 24
g9 165,000« 12& 1,980
ot SEFAE dJ| EY
110,000& * 122 1,320
SERANT DEFIE AY B
380,000& * 122 4,560
02 S52g4l 39,500 30,980 8,520
O=32= & HAl 29,000
oFUES0IEANE 32
2,000,000& *12& 24,000
oA SXIESE AHald|
5,000,000 * 14 5,000
OAlZ &I Xl 10,500
oFUES0IEAE HHI=AH|
1,500,000 #7902 10,500
03 A= SHI 17,000 26,000 29,000
OFANEUs & FUHEE2d 229G 17,000
SARERAIEAl F2USHYE ot WS
3,000,000& *22] 6,000
CTAITIA TRt ADT olrs T2
29 1,500,000 *23] 3,000
oAt gl FUSSEH L2 T)H =29
2,000,000 *49H 2= 8,000
202 04| 13,640 13,680 A0
01 =LHOHI 13,640 13,680 A0
OZAMEAIY =8 & SSEH 222
S AL 4 5,560
o2y 20,0003 2 +72 123 3,360
o2 110,000 x2E 22 +53] 2,200
O=SH gdat g2 =4 & TAIMHY A
&4 o 8,080
o2ty 20,0003 x32 %10~ 12& 7,200
o2 110,000 x2EH 22 +23] 880
203 HR=AH] 1,000 5,400 24,400
03 A= PR F&IH| 1,000 5,400 A4,400
OZAIHEAIY HRFA
1,000,0002 %14 1,000
301 EtE NS 1,500 3,400 1,900
11 AALRHIXIRS 1,500 3,400 21,900
OZ A2t HAL A aH 2&
50,0002 x102 +33] 1,500
307 elztol & 40,000 70,000 230,000




SA: AN
M TADHY SHSHIELXGNL/XALECAI)
S

CHOl: TAITHAEA (el mg)
SA - ZE - B2(30) - HRAS of v G o HIDE2
02 2IHBHAIHE £ 40,000 70,000 30,000
OZANY ==2IHIH SZEA
40,000,000 *14] 40,000
308 AHAIEMSOIE 6,468 6,468 0
18 SIS0t HAS A 6,468 6,468 0
OEAITHY -3 M2308
1,617,000 x22] x20H At 6,468
401 AlEHIZL SO 40,000 40,000
01 Al&HI 40,000 40,000
OZANEANY B2 EH
40,000,000 * 14 40,000
Al TH A8 X 2 S E 518,315 407,475 110,840
101 @124H| 489,175 385,467 103,708
MU IRNZZENSE 489,175 385,467 103,708
OZAIMHEX 2 HE MEE 76,686
=JlE 5,223,830« 18~ 128 62,686
oMNBIEER 6,000,000 *1H 6.000
g2 8,000,000 1 8,000
OZAIMEXZHE AAR=E 62,928
S==] 4,327,330& x 18« 122 51,928
oMBIEER 5,000,000&*1H 5,000
o&XN= 6,000,000 1 6,000
OFAMNEXN A & 221,748
S 3,769,750 «4H 123 180,948
CASEEE 5,200,000& »4H 20,800
SRS 5,000,000& »4H 20,000
OZAMNEXHE S 68,802
S == 78,8803 x2H*x 222U x 12 41,649
oFFrY 78,8803 »2H x4 x 122 7,573
odEds 2A
6,800 2 *x262 * 122 4,244
oA Xt 78,8803 21 x 11 1,736
S =1 2,800,0002 2% 5,600
SRS 4,000,000 x2H 8,000
OAltRAZ 25
12,321 +B8E*2BAI 2t 122 29,571
OdHg Al 140,0002~82*12& 13,440
Ouls, Ast & HOILE Z4 ol
80,0002 x8&» 10 6,400
OZLHESHN 20,0002 «8H 62 * 12 9,600
201 2= 26,240 20,008 6,232
01 AtR2t2lt] 15,240 18,008 N2,768
Oget=ZHI 11,400
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3 CADHEY 243H=EXXGML/XALEAI)
el SAITHAANS (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oNREBHI(EY, =8 8)
700,000 * 122 8,400
S AHUAIY EE2ES
3,000,000 %14 3,000
OEEL 3,840
CTAIMS =X S2YA]
8,000 x8&+5& x 12 3,840
02 S3=gHl 11,000 2,000 9,000
Os&sk= € MA 9,000
S AMMAXANE S523
750,000 * 122 9,000
OAlZ &I Xl 2,000
S AIMAXZME SHOIA =X 21
2,000,000 %14 2,000
203 HR=AH] 2,500 2,000 500
03 A= PR FA| 2,500 2,000 500
OSANHMB2AIY S HRFE
2,500,000 *14] 2,500
405 AHAHE S 400 400
01 Tt =S F = 400 400
OZAIHMXZEEH 247 7
400,000& *14] 400
FHAXAME(SA-BEXF ME0H2) 1,500 441,364 N439,864
201 fer23| 1,500 5,800 24,300
01 AtR2t2|HI 900 3,400 /2,500
Odgt+=H| 900
oI BEHE 225 S 2EXE
150,000& +6E 900
2 s3=234l 600 2,400 21,800
O XA S52= £ MA
100,000 62 600
CAITHAANS (LB 28l & )-8t X+ 3,455,730 143,858 3,311,872
101 @124H| 96,503 94,458 2,045
04 JIZtN22 XS 2+ 96,503 94,458 2,045
Ostd X7 X2 HE B 55,437
S 3,769,750« 1& 128 45,237
oMBIEER 5,200,000 *1H 5,200
S 5,000,000&*1H 5,000
Otk SEXAMH & 32,809
oQIfY 78,8802 x1H*222 x 12 20,825
oFFd 78,8803 x1H 42«12 3,787
oMBRTHAL
6,800 x1H+262x 122 2,122
oA Xt=g 78,8803 1H 1112 868
oARIEEE 2,800,000& 1 2,800
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el SAITHAANS (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SR 2,406,140 x1H 2,407
OAIZIRIZ2R4E
12,3213 x 1 *2BA1 2t 123 3,697
OZ =0 20,0002 x1H+52x 122 1,200
OdHgAHl 140,000& x2&* 123 3,360
201 er23 | 5,530 15,800 210,270
01 At2teltl 3,370 3,400 A30
Odgt+=ZH| 3,370
oHIEXNALAH A28 S 2L
200,000 * 122 2,400
oXplzA T2IY 2% 28 19
970,000& *14] 970
2 35244l 2,160 2,400 A240
OBZXAME ZTRZ L Al
180,000& * 12 2,160
206 T2l 3,000 0 3,000
01 b 3,000 0 3,000
OFpIdzUs D T2IY W2 P
3,000,000 *14] 3,000
301 22N = 5,620 3,600 2,020
11 AALEEIXIRE S 2,000 3,600 A1,600
OZANY =AY TR At S
20,0002 x50 #23] 2,000
14 DBt 2 a=S 3,620 0 3,620
OFpldzdst T2 08 2AE 1,380
Sl 150,000 1 Al 2H+62] 900
ox1t 80,0003 *1 Al 2H+63] 480
Ous ZZ208 ZAE 2,240
oA 1,610
-Jl= 150,000 1Al 2H+73] 1,050
- =1 80,0003 1Al k73] 560
o B X LA 630
-JlZ 60,0003 1 Al2H73] 420
- 30,0003 1Al 2H+73] 210
307 @20l & 40,000 30,000 10,000
02 QIHEHAIEE X 40,000 30,000 10,000
OstA X7 ZAITHA 2K S2AH
40,000,000& *14] 40,000
401 Al HIZL S 0HYI 3,306,077 0 3,306,077
01 Al&HI 3,305,077 0 3,305,077
O8teAXl7 SAINY =AY
3,305,077,000& x 14 3,305,077
SATHY =LA (2SKIT) 115,543 8,481,978 8,366,435
101 @12A4H| 96,503 93,978 2,525
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M CANY SHSHIELXIGNL/XSLTAI)
o2l SAITHA AL EER=E)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
M IRIR22REES 9,503 93,978 2,525
O=2SX+ SYXAME 2F 55,437
o223 3,769,750 * 1%+ 122 45,237
oABIEER 5,200,000 %1 5,200
SEEE 5,000,0002* 1% 5,000
O=2SX+ SHXAHE 32,809
SJeIE el 78,8801+ 222+ 128 20,825
oFxgsy 78,8302 15 x4 128 3,787
oMEAZ EXN4Y
6,8002 %1% =26« 122 2,12
SYsbyEs= 78,8302 1Zx 12«12 868
oMIEEZ 2,800,000 1% 2,800
ogl X3 2,406, 1402 %1 2,407
OAlZI 224
12,3212« 1 +25A| 2122 3,697
OZUEZ0I 20,0002 15U+ 122 1,200
OFHZA| 140,000 x22 » 122 3,360
201 YRR HY| 8,400 17,400 29,000
01 AFR2t2l] 7,200 2,400 4,800
OgYei2H| 2,400
SHAXNUME A2E S 2IX
150,00024 122 1,800
oFDIAAS T2 2 2E ¢
600,000 %14} 600
oYtz 4,800
SHANNRHME AIRA AXI2
400,0002 * 122 4,800
° S22l 1,200 0 1,200
OSEXNIHEH 2322 < HMAl
100,00024 %122 1,200
301 YBtENZ 10,640 3,600 7,040
11 A X 22 2,000 3,600 A 1,600
OZAITHA FEAY ARIX 248 S
20,000+50 % *23| 2,000
14 JIEtE A2 8,640 0 8,640
OF 0I5 T2 LA 8,640
oF2A 6,210
-J|e 150,0002 1Al 2Hx273] 4,050
= 80,0002 *1AI2H+273] 2,160
o2 XUA 2,430
-Jl= 60,0002 * 1A 2H273] 1,620
= 30,0002 % 1AI 2273 810
FAXIAME(SAI-FART MEOIS) 41,689 1,849,597 A 1,807,908
101 Q1244 34,489 31,964 2,525
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Sl TAITHAANY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
M ORNZZENSE S 34,489 31,964 2,525
OFAX7 HEXAME S 34,489
ool 78,8802 1% +2221 122 20,825
oFE4Y 78,8802 12 x4 %122 3,787
oMBD PEL
6,8003 x1H*262 « 12 2,122
oA\ Xt 78,8803 x 112+ 112 868
oMeIEERE 2,800,000& %1 2,800
S 2,406, 14021 2,407
SRR =] 140,000& x 1= 123 1,680
201 er23 | 7,200 10,800 23,600
01 At2t2ltl 6,000 3,400 2,600
OB EXJHE A28 § 2
100,000& * 12 1,200
OBITAME MRA Y2
400,000+ 123 4,800
02 s3=gHl 1,200 2,400 21,200
O EXHHE S52= % HA
100,000& «12& 1,200
FHOAXAME(ZAI-HLXIF) 926,624 0 926,624
= 629,000
[ 89,000
Al 208,624
101 @124H| 34,489 34,489
M ORINZZ2NSE S 34,489 34,489
Otk SEXAME & 34,489
S 78,8302 x 1 »22& 12 20,825
oFFrd 78,8803 1H 4« 122 3,787
ocMEs BdH
6,800 x1H*262 * 122 2,122
oA Xt 78,880 x1H*12* 112 868
oHEE 2,800,000& %1 2,800
&A= 2,406, 14021 2,407
oy A AH| 140,000& x 12+ 123 1,680
201 2= 8,400 8,400
01 At2t2lt] 7,200 7,200
Oggt=3=H| 1,200
oHIANZHEH A25 S 2N
100,000& * 12 1,200
Ogxz 6,000
oEHTAZHH AR X2
500,000 * 122 6.000
02 S5=2g4l 1,200 0 1,200
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ol AU S52= £ MA
100,000& * 12 1,200
401 AlEHIZ S 0HbI 883,735 0 883,735
[ 629,000
= 89,000
Al 165,735
01 Al&H| 878,168 0 878,168
OELAl+ FHANS 20 A
883,735,000 %99.37/100 878,168
= 629,000
== 89,000
Al 160, 168
03 A2 THYI 5,567 0 5,567
OGN 7 HAXS H20A IHEAH(0.63%
) 5,567,00021 %14} 5,567
3 =2 2125 &4 360,753 399,436 38,683
sgZ= FH| 340,753 369,436 A\28,683
101 e124d| 136,338 157,436 A21,098
M ORNZZ2NSE S 136,338 157,436 /21,098
O=sgZ = &l 136,338
o012 96,865
-g8g 78,880 5 H+5& x5+ 63,104
- 78,8803 x2EH 22U %325 10,097
—JIE 78,8803 x5 x5 x 125 23,664
oFFsd 19,374
-gg 78,8803 x5 x 12U #325= 12,621
- 78,8803 x2&+0. 42 x32= 2,020
—JIEt 78,8802 x5 x 12U x125= 4,733
oclEs BdE 8,351
-gg 6,800 x5 +52U #32== 5,440
- 6,800 x2 22U x32= 871
—JIEt 6,800 x5 +5& x 12 2,040
oMBIEER 11,748,000 * 14| 11,748
201 el 51,555 57,920 26,365
01 At22t2lt] 27,680 31,320 A3,640
Odgt=3=H| 5,300
osHANE ALY AEH MH
5003 +3,0000HK 1,500
o=@ INE AHS HIIFE 7Y
3,000,000& *14] 3,000
oZ = M AA03 MH
4,000 *2007H 800
O=23+¢ 3,500




2A:

S AIRH 41t

B CADNY BASH(REUXSNL/IALTA)
e B8 =2 d102% &4 EER=E)
SA - ZE - B2(30) - HRAS of v G o HIDE2
c=oB N AHE A ~T
100,000& »7 & #53] 3,500
o=l 880
o=¥EIE Ot NI=HSH
8,000 68 +23]x 113 880
OS] 18,000
CEYURSVIS NS AUHMHIA S
A 1,500,000& 122 18,000
02 S3=gHl 23,875 26,600 N2,725
OsE2= & HA 13,200
ogHAIE NTHEE 0|SHE SME
60,0002« 12& 720
o= HE Y HYISXC =2
440,000 x12/* 123 5,280
CEYRSHIS NSHE AHYMHIA S
L= 600,000& * 122 7,200
OAlZ &I Xl 10,675
oE=0 NEANANUFA 24 10,675
— 80 NEAAI
300, 0002 *657H 2 *35% 6,825
—MEE XEAH AT
200,000 557 2:*35% 3,850
202 04| 2,860 4,080 A1,220
01 SLHoIH 2,860 4,080 1,220
O=eZls 2d 29
110,000 *3Z 32 +23] 1,980
094 =2z MAS &A
110,000 x2EH 22 +23] 880
301 LEtE NS 150,000 150,000
14 JIEt2 a3 150,000 150,000
Osgaus =HE4H 2o
150,000,000 * 14! 150,000
=2 ZUANEE & & FHl 20,000 30,000 10,000
401 Al HIZL 01| 20,000 30,000 10,000
01 Al&H| 20,000 30,000 10,000
O3=+=olithtl SAZDAIELE FH|
20,000,000& x 14 20,000
Y2 AHI(TAITHA L) (D1EH/DIEH) 61,243 79,203 17,960
el 2| 12,690 17,459 AN4,769
el 24| 12,690 17,459 AN4,769
101 @124H| 12,690 17,459 AN4,769
03 SRH(RINAHA) 222+ 12,690 17,459 N4, 769
OAlIZRAZ 25
12, 70532 +20 A 2H+ 123 +150% 9,148
O ] 3,542
SNES= o 90,8003 *1H 262 *150% 3,542




2A:

S AIRH A4 D

M HYSAZYI(SAINADL) (JIEHIIEH
Chel: J1=2 &l EEED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
JlE2al 48,553 61,744 A13,191
J|1E23&| 48,553 61,744 213,191
201 LB-2AY| 24,473 32,904 8,431
01 AR 22| 24,473 32,904 18,431
OYptaRY| ZHH|A
9,590,000 *14] 9,590
O=ZtHl WAL 14,883,000 3 * 14! 14,883
202 0441 20,480 24,640 AN4,160
01 =2LHO4 ] 16,640 20,800 24,160
OSHSZ 2H0IH S A
13,040,000 14! 13,040
O33R (RI1H ) 2ol 3,600
o AIR& 20,0003 x1H+52 « 12& 1,200
oXEH=R 10,0003 *1Z 20« 12 2,400
02 M| 3,840 3,840 0
O=S8ZIS H=H3 XY
160,000 x2Z*12& 3,840
203 PYR=&IH| 3,600 4,200 2600
M EAM2IHRFA| 3,600 4,200 A600
O AITHAS DH(19Y ) 300,000& =123 3,600
MNELES(ZAITHH D) (ZELX SN/ XNSLZAI) 64,877 131,876 A66,999
LHEHH K= 64,877 131,876 266,999
LHEAHCH K= 64,877 131,876 266,999
TR IISHEZ 64,877 131,876 266,999
01 2I38EZ2 64,877 131,876 A66,99
OsZNg 28 Ml (222EHs ZAHE)
o 20% 324,381,000 #20% 64,877




